Sudoku
Each row, column and square needs to he filled out with the
numbers |-9, without repeating any numhers within the row,
column or square.

6| 8 51413 |1
7109 4126 |5
4 511 719
215|814 913
9 1 4
86| 3 I

71113 9| 4
9 6 8
8 7 2




Multinlicati Grid
Time how long it takes to complete the grid. Can you
improve yow time when completing the second grid?

Chall.engel
MUtTIR M EniIoONIENCGTSAIIMEICHANEENGE
Xx|[6|a[1]6[12{10[7[9|3]|2]|1|8]|
3 Score:
4
1 =%
2
5 1888
Challenge 2
MUTPLICATIEN EETS TME CHALLEIERE
X|a|2|7[1n|12|1]|9]|3]|5]|6[10|8]
5 Score:
3
1 =5
4
2 1588




